~ - — [o]
QDAL EFEFEF Y EA AV T
)—J8 (1) Bbh& B53 3149142 &0
AY -7 F—LEX [BEAMZER [FI- 2R e BEh | BER | BEXA|BEA
JII A RE =

BAMZER 3-1 4-0

A _ 104 = o 2 1% 6 7 1 6

TT - &R = -

*2{_& %4 %4 2.55( 0 1 8 _7
BY -7 F—LEF |[BAMZER |2REAE BBER Boba [ MEBA[BEA gsea

)il B

F—LEF N 0 Tymint| 5 | 8 | 3 | 5

il BN S | msu| 5 | 8 | 3| 5

2R 0-5 0-5

< < 28K 0 0 10 | -10
Ch =7 F—LJtm |[P%ELE |ZRfE - B ER Bhha [ MEA[BEA g%-ﬁ
T

F— LFitfE 3-2 3-0

PVETLE 2-3 Q 301 = : i : :

s I — —

0)(3 3 o 1018k 3 5 4 1
2R - B = =
I » » 28Kk 0 1 6 -5

#fRE

HILDAHEFEFYEA YT




HILDAHEFEFYEA YT

~ — . — (o]
QDS B EEBEF Y EA LAY T
)—J8 (2) Bbh& B53 3149142 &0
A -7 F_LEE |&RE ZRA - B BR | Boh | REA|REA gf’&ﬁ
I
F—LBX 4C_>O 3C_>2 2B 6 7 2 5
SR 0)-(4 24 28K o | 2 | 8 | -6
%;‘RE B 2)—(3 4(-)2 118K 3 6 5 1
B4 J-7° F_LWiF |BARER |[HFIE BR | Boh | Reh | REA g%a
JILA
F—LEF R 350 i | 5 | 4 | 1 | 3
RARER ‘Z 652 11504 | 5 7 3 4
PP 3 0-3 2-6 285 0o | 2 0 | -7
X X
C"h h-7° F_LfE |BARER |HL 2R BHR | BbA | BEA|BEA|BEA
: JIl B - dan =
F— LA 27 ‘652 | 5 | 6 | 4 | 2
BARER =) =
e N 2A4 =~ 5 1151+ | 5 8 9 6
FT - 2R = =
E y y 28K 0 9 10 | -8

#fRE




#fRE

IR {2 3%

HILDAHEFEFYEA YT

BUDALEELFY UV EX DY T

F—LZ s BX Bbm | s | mxm geea 5
F—LEBX (BXm) —_— 9 19 6 ) 6 | 54
F—LEF (BXs) 225 10 19 4 8 | a4
F— Ltk (BXS) 3p143 14 " 12 6 6 | 24
BAMZERIA 33145 1 " 14 4 10 | 14
BAMZERIIB 2M243 10 16 5 11 | 36
&RA 48 0 2 18 | -16 | 94
PET % 1 3Bk 3 7 13 -6 | T4
ERAE - RT 1 3Bk 3 7 1n | -4 | 6fz
FT - RIRRE 2Bk 0 3 18 | -15 | 84




VN v ol¢ ol

KigRHO{ DAY 7T (—BDOH) PEI—J

BHbm: Bb3 519172 &0
ATIL—T EXx—J)L- |®RRFC |EBEIriy f5%5 B BHbm | R | BEia |8k s | JEA
L5453 E"-29-V A =
ET—JL - _ _
554 0 0 i | 3 | 1| 8 | 2 | 2
ZRRFC _ _
300 1 i | 5 | 4 | 3 | 14
wBEJriy’ 0-1 1-1
£ -29-I A x A 18411 1 2 -1
B IL—T ExT—I)L- |7)—-- X |EEEIIY f55 B Bes L |BkR
=40Y 5% 2y IJER |E-A-IB =
ExT—I - _ _
EDH y 02 28 6 | -6
l)—-- X _ _
Ry &R 400 201 2f% 1 5
#EJriy _ _
t"-29-VB 200 1x2 1B 1RL 2 1

Bax




VN v ol¢ ol

KgERH< O hY T (—BOER) REF—F A2+ - SUELIER

REEF—F A SRR
£RRFC
1 0
7 i, B3 0 2
AY W=7 BY -7 AY V=7 BY -7 AY W=7 BY -7
14iz 241 pXivi Rivi 3fiL 3L
% 7 £ 4 E 7 h & #E
iR % T &) 3 T
R E ) I = | E ) I
F : ; JL . L
C 1 f : = L' .
A7 A A A 7 o
5 v ?

Bax



Kigmb<h<hvyT (PRZLEDE)

VN v ol¢ ol

BHm  B53 509032 &0
#EkJriy  (EBKJrI)  |EERJrI) IEME - EE R BR o m | RER | RER|B/EXR | EfL
t"-29-VC  |E'-R9-WD [t -RI-VE |BTER =
#BRJriy
£ -29-hC 2(-)0 OAO 1;3 1B 1B 9 14 5 4 3 1 3
'BRIriy
£ -29-ID 0;2 3(—)0 1(—)0 9 B 1 B 6 4 9 9 14
Ef%ﬂ%dri’f
£ -9~ E 00 03 O It | 2 | o | 4 | -4 | 4@
P
7 &M 36‘ O 1(—)0 MK | 6 | 4 | 2 | 2 | 2t

Bax




